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QUESTION 1

When using an egress port scheduler, which scheduling loop priority are orphaned queues serviced on?
A. 1st

B. 8th

C. 9th

D. 17th

Correct Answer: A

QUESTION 2

Which of the following CANNOT be used as external marking bits?
A. IP Precedence

B. Dotlp

C. Forwarding class

D. EXP

Correct Answer: C

QUESTION 3

On the Nokia 7750 SR, how many queues per FC are available for multipoint traffic within a VPLS on service ingress?
A. 64

B. 8

C.3

D. 16

E.1

Correct Answer: C

QUESTION 4

In the context of hierarchical scheduling, a scheduler is configured with a CIR weight of 0. Which of the following
statements is TRUE?
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A. The scheduler will be allocated its "within CIR" bandwidth before all other children at the same level have received
their "within CIR" bandwidth.

B. The scheduler will be allocated its "within CIR" bandwidth after all other children at the same level have received their
"within CIR" bandwidth.

C. The scheduler will be allocated its "within CIR" bandwidth after all other children at all levels have received their
"within CIR" bandwidth.

D. The scheduler will not be allocated its "within CIR" bandwidth.

Correct Answer: D

QUESTION 5

Which following statements about the four-step QoS process (classification, queuing, scheduling, and
marking/remarking) executed for every packet entering a Nokia 7750 SR is TRUE?

A. The process happens only before the packet goes through the switching fabric.
B. The process happens only before the packet goes onto the egress port.

C. Marking/remarking the packets is for future classification.

D. Marking/remarking the packets will occur right after classification of the packet.

Correct Answer: D
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